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QUESTION 1

The following SAS program is submitted:

dara WORE.DIGE3TL:
array Obhserve{3) § B ['appendicitis' 6 'diverticulosis', ‘gastroenceritis');
run;

What is the value of the second variable in the data set WORK.DIGESTL?
A. diverticulosis

B. divertic

C. a missing value

D. No variables are created.

Correct Answer: B

QUESTION 2

The following SAS program is submitted, but fails due to syntax errors.

data WORKE.TOTALEXPEND (kesp=NonthExp{la}):
set WORK.HONTHLYEXPEND (keep=Year Drug Disp):
array MonthExp{lZ};
do 1=1 to 12;
HonthExpi{ir=Di=zp;
end;
drop 1:
Cun;

What is the cause of the syntax errors?

A. The keep= data set option should be (keep=MonthExp*).

B. An array can only be referenced in a KEEP statement and not within a keep= data set option.
C. An array cannot be referenced on a keep= data set option.

D. The keep= data set option should be (keep=MonthExp).

Correct Answer: C

QUESTION 3

The following SAS program is submitted:
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proc univariate data=WORE.3TUDY;
hy VISIT:
class REGION TREAT:
var HBAIC GLUCOSE:

run;

You want to store all calculated means and standard deviations in one SAS data set.
Which statement must be added to the program?

A. output mean std;

B. ods output mean=m1 m2 std=s1 s2;

C. output out=WORK.RESULTS mean=m1 m2 std=s1 s2;

D. ods output out=WORK.RESULTS mean=m1 m2 std=s1 s2;

Correct Answer: C

QUESTION 4

The following SAS program is submitted: How many data sets are created and how many observations are in the data
set(s)?

oda output ChiSgimecch all) = WORK.PVALUES (where= (statistic eq 'Chi-Sguare')) :
proc freg data=UORE.ENDPT:
tebles ENDPT1 * TREAT / chisig:
tables ENDPRTE 7 TREAT / chisg:
Cun;
od3 output close :

A. 1 data set named PVALUES with 1 observation.

B. 1 data set named PVALUES with 2 observations.

C. 2 data sets named PVALUES and PVALUES1 each with 1 observation.
D. 2 data sets named PVALUES1 and PVALUES?2 each with 2 observations

Correct Answer: C

QUESTION 5

A subject reports a medication started in March of 2007 but cannot recall the day number. What is the value stored in
the SDTM domain CM.CMSTDTC variable?

A. OOMAR2007
B. 2007 03

C. MAR2007
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D. 2007-03

Correct Answer: D
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